HFER
5 PACKING LIST

BF: AR X SRR

1,EFESH:

IE: H202301768 MR E 3200kg

EEREES | THJ 3200 /1.0 - JXVF EHlA: 2R3 3000 + — (AL,
= 3/3/3 HE:

BHARR | 2000x3000x2400 FIRS: h43PUES 1800 x 2300
2,855

S &R FEEBHE R |[8%5K =F
1 |FB88ME  [#=HE, B8, HRBSIHRTESSE i)

2 KB |FRERE, MIIEER, SR, SRR R A B

3 |fEiRiE |[BEAR, TRAR, 1048, %510, HUBLHE, &R A8

4 |IRsE |BIR, BIIE ] F—NAME
5 | (NBERFFERE, 1BeSiREE, T2 AE

6 |SNEASIZER, B3R, EH, SHES, B ]

7 |B5IH  |REINLRAN A8

8 |IIWE [NV IR, 1Re2 ]

9 |IME  |RIEERNG, 18 A58

10 |EHZE | ENZR, SRRRERE, SR BIREE

11 |5 LR | ERRIRR A BIREE

12 SRR | TR EEgaE

13 SRt | B, FIE BREE

14 |[3EZR  |JIELE, WEREY, FENHNT, #S BIREE

15 FER  |FEER, B8R, BrE, BLiR BIEEE

16 |{We2td | EiN224E, BE5|IINLE N4

17 |38k |JER B

18 |smmisss | S, EEae

IR TREINE

£ EH B - B eE: Eie:
wEEmsl: 0 -
ENEREIL - Z): R

R MREAERENEREYLER . 85, FRFRRN, BEBRGEZHEE=S



MR R B

F ®

o B2 1202301768 BE/3/17 3 /3 /3
FEmES THJ 3200 / 1.0 - JXVF Bl m R 2000 X 3000 X 2400
EFER 1N AR X Sl AR FIHFRER DU - 1800 X 2300
WA 75| FRiR % b K5/ e Htk/ B % IF
! H L BURALL & s maagf ziigf&%ﬁtiﬁ1¢% ! B (fRALLE. 2T
2 | H SR IR IR IR I 140 X 60 4 PF | ZdEAE B
3 H AL IR IR P P 140 X 60 4 s GIELE R
4 5| URITG b 16%0, 7B 130, At55%h 4 A GEHELE [
5 | H SRR [ER(iAE] 150 X325, t=16 2 B | s R
6 | H iR I 350 X 314 2 A LR
7 H BT s 440X 314 2 A IR
8 H Hrliife kg, M 400-8-10-16 2 A GEHELE [
9 | H 977 1. 28 £ 4 e L=325 4 % | wPEELR
10| H B S KJE: 1=3400 B RAHHTATK 3400, FAFEHS | 2 | BB R AT
1| A SEAHERATE FRiEF B D16 ik 8 fF | REESIAE
12 A RS L8 LR . BRA 3. 2064] X %3032 1 &=
H M g I 1032 0 i
13] A FLFT 63X 63X 63 Bt D16 FikF 8 A Sk
14| B BT IS 1684840 L=2214 1 ES B
g | 15| H e pr it 200X 290, t=16 2 | EeaTp
P! - ML (SRR =
e 2 S L 2‘*"”1‘”{*;“;};?;‘3; 20 £ 1w
17| H IR FriEf: 130X 50X 50 4 | BT 2 A
18] H PRI ARG I 4 A e
19| H AT D 1642 4T L=1950/2300 8 2% | [AKBL3ANIREE
20 | B kb Lk TeRbbRIEAE L= 400 2 £ BEMUTRRIR
21| H RBRATHR B PRI 1=3000, FL#E2000 1 %
22 | H 5 ARG 295 X 90 X 55 2 1
23 | B PRI A PRt 1 £
24 | B LR ! RERBS A 930 2 % | 2500, sk
26 | 4 iliihea A ALT90/B, &4 FL75X75 H103 6546 5 4t 4 A
o7 s ot & AR 75 A s 2 A /N
4h SR mAR 75 REM R 2 A
28 | 4 Sl QUIOTHTEA L R (| SRR « 5400KG ; .| P
) (iedl B In/s , BUifH: 16 mm 1Eoft
29 | 4k LAHHRRAL FeK A, BEhiT: 1989 1 £ | BaAELREE
30 | b ERURSTF 0 3 | 1 | EmrERR L
IREEA L - 1. 2mm304 KGN
31 [ H J MIEERR =282, H=2400 2 £ | 1 2msosgacresm
32| H Jii HPEERR =500, H=2400 3 P | L zmsosgecRe
% | 33| H AT JEEER L=455, H=2400 4 fE | 1 2ms0s 8k
ijj% 34 | H ] BEAR AR A LI =500, H=2400 8 fF | 1 2msosacresm
35| H B EERR =32, H=2300 1 1 1. 20304 AR
36| H BB 1=232, H=2300 1 JT
37 | H i ImLiE AN EAREH T 1=2064, H=100 1 | L 2msos kR
TR o 890 1 | 1 2maosmscrem
138 H [IIEZRIS 487 X 2064 1 14
139 H AT 500 X 2064 3 4 JEAT 1L
B 10| @ R TR R kA EL 500 X 2064 1 £F | FF380 KB FL
141 H JE B TR 487 X 2064 1 1
147 H TR 1. 2mm304 K AN 1=480 H=2325 4 BT BIIgE
155 B ZIIHR 1. 2mm304 & SUAER4N =485 H=2315 12 fF [T, 8%
H HRESE 1. 24K 1=2265 6 ff JEEEH T
156| H RES 1. 2mm304 RS EHN B=50 L=1920 3 %
H [TE Lk 1. 2mm304 R UM B=50 H=2320 6 1
RESUNY S 1. 2mm304 KU 890 3 fF
158 | B pNIELA g ik 10 i ETH
H JENG 1 THL L HEMR ARG 40%60 0 £
149 | 4b [BE GEDEFE9ILTA61-A 917A61-AC220 1 B
38| H ER SR ST L70X70X6 =250 14 1
39| H EXNES R L70 X 70X 6 L=200 14 ff:
40 | B | PRSBSOS L70X 70X 6 1.=1280 28 i Al
g 41 | H B3 S HERD U] L70X 70X 6 L=150 28 f:
42 | H RIS L70X 70X 6 L=1890 14 fF |fLEE107, fRFs6
45 | H RHE L50X 5 L=500 0 14
46 | H RHERIS L50X 5 L=100 0 s




I - -2
EEmS 1202301768 BE/3/1 3 /3 /3
PERES THJ 3200 / 1.0 - JXVF FRA RS 2000 X 3000 X 2400
EFER 1N AR X Sl AR FIIAFRERF DU - 1800 X 2300
WA (75| AR 4, s Fl5 /A Z K e GF &5 FK R % E
) ) o 5K/ %, [His: 8 % . .
43 | 4h Bk 3 35 T90/B % T 2 & 42 K
. o 5K/%, [BE: 8 % .
44 | 4t Xt 2 E S5 TK5A ok e 2 & 42 PN
45 | 4 EFHUER T90/B 8 s
16 | 4b 3 U B TK5A 8 e
47 | 4k EFHUEN T90/B 72 H
g | 48 | 4b BT YRR TK5A 82 H
Bl 49 | b ST YRT T90/B 14 | BRALATZH
50 | 4h ERUIED [ER(iAE] KL=1100 2 i FLIE96x96
51 | 4b LR K10. 3 FLEE: 110 4 i FLEA110
53 | 4h SR T90/B €= 0.5mm, 1.2mm 52 i JE
54 | 4b S TK5A €= 0.5mm, 1.2mm 52 1 JE
55 | 4b RIS PR & S 4 A
56 | H o H 4 P 1] 1590 X 4100 1 ES B/~ H &l
58 | 4b Xof S R, B ®400-8-10-16 2 A
59 | 4k UGG 16%, /&% : 125 4 | AERE, 65
60 | 4k Xt Bk 760 X 300 X 80 68 £ | 3k130, 52kg/ {4
- 61 | 4b S 13K HeAili: B=17 4 A S H I
& |03 H X R B P 200550 3 fF | e 4
64| H PO 5iE] 350 X 340 2 A | BERCAEXT EAE
66 | A X EIEY R 1750 X 1220 2 1 I
67 | H X FE R L X 1220 0 1 W
68 | B o LS L= 600 8 %
69 | H PEEEKE 643%, 1=3000 2 %
70 [ 4k SIRZ 2 SE LD-HC-L11 2 A
ST 71| 4k o} H 2R A S5 LD-HC-L17 1 A
72| H JEIUICHS PRtk ¥ H=1500 1 i
ik WEHEE ¢ 1 m/s
| A i XSG607-B 1 L 5 Wik . 8 m I £ s
Fie ik 20 B L AN
4| B FRRIAR TR bR L=300 =60 3 s Fephid
| 75| B FRREAR S5 TRERbRAELE L= 345 3 %
F5 76| B PR TT R ek % H:1900 2 %
77| H PRAV S 28 JLEELLO L= 375 4 % & ek
8 H IR 48 LA AN s & 841 ® 28, 2084 KR, S BEE A | 1 f 11.=925
Rz % 28 4 Sk A4 it P 8L © 28, 20840 1 # [L=350
80 | H S RISESLAR R L=650, 164 4N 0 %
ff 81 | 4k B A 8%19S+NF-10 B ©10 768 K 96K X 8%%
% 82 | 4b PRI A AN 22 4 8%19s+PP-8 HiE: ©8 44 K
83 | 4b fLk D8 6 A
84 | 4+ kAl s @10 SR 482 | 16 £
8L [ H BEEFINK A b 1=250 1 £ AR
85 | 4 B E R ! £
#E: 3200kg  HUE: Im/s
iﬁ 86 | 25 R 5L GTWIOX=162POA 5;]%?@1} Iﬁ?].]zoo\} el B GTWToff—J?GI?POA
;J{ 5. ©410-8-10-16
87 | B FHLLE o BOEECTNION-162P0A | XFTEATE . fUE 1 A STt
88 | 4k EHUK At 22 AR 2417 6 ES
200 35T




Mo K

B

RS H202301768 B/¥5/17 3/ 3 / 3
RS THJ 3200 / 1.0 - JXVF BRARS 2000 X 3000 X 2400
BEER 1N AR X Sl A R ) FIIHFRERT 3R - 1800X 2300
S| FRiR £ s K5/ R Zz B WE O &% F A %
89 | H AKEEE K. 3.9% 28#h T 74N 2 % EH
90| H FKEEIGE K. 2.2k 18#b 4R 2 % A
01 2 g F, EEETFR 168 4 T — g;
92 [ H PR o 2% 2 2% i e DL AL : 240 1 % |10k, 1=920
ERE L N B 500%314 3 o
?l B | s Rk e =325 5 i
,;,L B 0 7 8 R, I D520-8-10-16 1 1
93| H Hrm R se P 680X 930 1 %
H SR R4 BEBRES, I ®520-8-10-16 1 o
94 | H BRI DE R, I ®400-8-10-16 1 1
5 HZRE1 it L=470 1 # 1. 2mmégEsR
H HZRE2 B [ L=360 1 # |2.0mmiEsER
95 [ 4k | SFfe. RABFRUAIEY 165, &% 130, AL55%0 8 £ | FCAURERE, Ji
96 | 4b AR A AR 2R 53 3000+ —44A4L, 1 = 22 kw
97 | 4+ BEATHIZE . s MR 20.2 K 1 S e T
98 | 4 e HUB R FF9R 4 A
99 | 4+ PRI oY i Jo7 2 FEL R S K AL 1 ES
| 100] 4 Y FRGEAE . 1150 X 155 bR 3/3/3 1 =3
;ﬁi 101 | 4b | BEuhAEE CHIEBD FTIRESE, Jebrbt 1 o
= 102 i AT TR ESIT, JEbr i B 1 A
g | 103 ] 4b T M FTIRESE, JebrbtE 1 A
104 | 4b JESUR S 1 A
105 | 4h JEIT R T A R 2T 220V / 40W 2 A
106 | 4 aEg 2 i
107 | 4b g e S e 2 A il
108 | 4k A e % L= 1000 /% 5 %
109 [ #h B35 FEIEAR BIRREINR: 22 kw 1 o 100A
110 | 4k FLIRARAT I 2 AT 220V / 60W 1 A
111 ] 4 FEIEAT AC220V 60WHs 7 2 4 o
NP Ei L BUKSIF & 1 A
—'ii 113 ] 4 LA IT R LX29-7/3 0 A
| L4 A il sl LED4T : 1020 X 40 3 =
115 | 4k TF K HL IR AC220VE; §DC12V 0 A LEDT FH
116 | 4b FRALIFE (1370) 4 A
17| 4k TuJ7d 1 =
118 | 4b R XU [ J% HD/BRB 1 Eiu
19| 4 & [0 R A 2 S 4k BVARFRERIE : 16 mn? 55 ES
120 | 4k =GP EL 3X0.75 mm? 20 %k
121 4 2. Smm“ T4 H 2% 20 PR
122 4b 10mm2 35 43 Hh 2% 20 K
123 4k A1 PR 4% B i 2k 21 >k
124 | b B 80X 60X 1.2 5 %
125 4F LRI R 10 4
ah I 7 5K/% 2 %
i [ 52 22 1Y 30 A
;’% 126 | 4h &R LMY, D30 8 K iV
%B 127 4k SRRE KB, D10 3 S JEiE
e |128 ] 4 g Rk ®30 mm 4 g
129 | 4h WEREL ®10 mm 6 A
130 [ b SRR ©13, 73 6 X | EELH
131 4b R Sk ®13, 90° 10 i
4 PR 1 A | Hrmess
132] 4h JERFLAF 200mm 200 %
133 | 4k JEZHK kL D6 mm 137 Hi
134 4k TR A 3 &
135| 4b BLkig 16 A
136 4h ZH (KD UT10-6 20 A
137 4b KH (M) SV1.25-3.2 40 A



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



M OB R K] B

L

T 1202301768 BE/3/1 3/ 3/ 3
PEaRE THJ 3200 / 1.0 - JXVF BRI R 2000 X 3000 X 2400
B4R TR DX b R L FIIARERT F3PE - 1800 X 2300
W || ARk % i 5 /85 % H ow OF & Ff AL % I
FFITR . 1800X2300 A1), B
142 | 4b FFIIHL FEF0. 02 e UIHL. ZREEE . HUIK, 1 G M. BERR%
% F1J) bR °
71144 B LARER L s 1900 X 800 1 s
146 | [ 1 AR S FrifEfE KB 1=490 4 %
148 H ST HhIRIE R s K. L=2750 1 % | dnmbRHT S
TR S PR T
150 | 4k 2173k FEFL. 02 ANEE 18002300 3 £ |8 =f8. .
BB 0 bRAEFE
2 | 162] | HIKFCLE e K. 1=2200 3 £
i1 [163] H R e 1900 X 400 3 i
164 | H SR TR 5 pS K%
165 | H FEES AN 2514 15 ES
168 H 3R A R ARG H£:500 21 A
169 | 4 SHUh LD 5 kg
170 | 4+ FATIK 2 kg
171 4k FIH Ay 1 kg
172 4k RIS 6 kg
%}}; 73] 4t LI | B
174 H RESE R LR CRG ®8 mm, L=1000 3 %
175 | 4b PiES] s 4 it
176 | 4b X 1K @ 44 2248 2 %
Y LK — Y fE1
T 23R AR PR o N
179 | 4b FMERE HAE D10 19 %k 0 %
180 | 4b AMERE S R E B4R, L=1860 0 f
181 | 4 [HMzEE T ) B e s L=510 0 i XK
Mzl 182 4k 1K @ 84 2448 0 %
183 | 4h . ) D8Ik 0 H
e e 2 —Y
82| 4t HMEEBE 2228 ] AR pomy 0 n
185 | 4b UG (M12, FLEE72) 0 £ g RE
AT L5
B R BRE B
HFERE H202301768 B/3/17 3 / 3 /3
EaRE THJ 3200 / 1.0 - JXVF BN R 2000 X 3000 X 2400
P2 0 FIIFARR R A DUE - 1800X2300
ENad Ies JE . A B /R Z B O &% 5K ir % iF
1| SRS A 124 M18X 60 FC-Pk, spdy, Rk R | 30 £ | 8.8 AN
35 R R R B2k M20X 110 B P, sk, SR, W] 0 = 8.8 Af
T R A R A 12K M16X 110 PR, BREL . XUREE . XUREE| 0 i 8.8 AL
2 |SHRE 5 IZEE M16X 40 FLTH . i, gpsk, BRE 8 ES)
3 |SHE RRER . A 12K M16X 70 FORUR T4, Bk, R | 16 £ | 8.8 ik
4 | ERRES L, RS 12 M8 X 25 A Fa, sk, wER) 16 ES]
5 | S R AT R IR M12X 40 AT, B 3R 2 =
6 |HEIsi e 124 M8 X 80 BooPas, Rk, gk, iERg| 8 ES
7RI 12 MI12X90 Br-Pae, #pdh . BREE 4 £y
8 [T S B8 55 Jie v A 12k M12X 45 it 8, Bk dERE 20 1=
9 | IIHLBE S A0 TR B S A 124 M12X45 AT, s 18R 2 £
HoL10 [ITIHL S R A B2k M12X 45 il 8, Bk dERE 2 15
20|11 TN IR S 4 12 M12X 45 AP, sk, BRRE 4 £y
12 [T S TP R S 20 IZEE M12X 45 FFa, sk, BER) 4 ES]
13 | PR SrAE 124 M18X 60 BTk, sy, plek, WERE | 24 £ | 8.8 HAM
14 | PR RSE 12k M12X 45 fio T3, Rl s, Bk 12 £
15 | PR a4 12K M16 X 60 BooPa . AR gk BB 8 £y
16 | SeAESRATHE . RiAT R B2k M12X 40 AT, JrpiEs, giak R 12 £
17 | Wi 5 R AT R 2 REM20 Fr2 X P, gadh . 3XUERE | 4 £
18 |FiAF5HiATH B2k M20X 90 [N 5 N 4 ES)
19 bR 12 M18X 40 BooP . iRl SRk BB 20 £
20 |JEFE S H R AR IZEE M16X 40 FTH . gl gpsk, iBRE| 8 E=)
21 |1 T HER 5 R A AR 12 M8 X 40 BooPa ., Rk, gk IBRH 5 £
22 |f5 5K IS4 IZEE M12X 40 FOFa, sk, wER) 2 E=)
23 |BERR SR AE 12k M8 X 30 AT, B 18R 60 £
| 24 |BEBGEE B2RE M6 X 20 BO P4, SR IBRE 176 £
BE | 25 |RIREAR SRR 12 M8 X 20 Biopa, sk, WERE 6 £
26 |EERR 5T 12 M8 X 30 A Fa, sk, WER) 60 =
27 |FES i ORI MBS M12 X 120 ARG L B, R | 112 % T4
28 |FES i (i) RIS M12X280 | FOrRE. SPEGiE . WER: | 66 5
o |29 |SeApiEEE I2AE M12X 45 [ NS 76 =
f:er 30 | EHERY IEAe M12 X 45 BT, Bk dERE 66 %= 13K
31 |EEERY 12 M12X 45 AT, B 18R 66 = T5K
32 | EHUEBAR IZEE M12X 45 FFa, sfsk, WER) 74 ES)



Skyfree
Skyfree:
114轨用M16X55


o400 35T
R - - T
EEmE 1202301768 B/¥5/17 3 / 3 / 3
EREE THJ 3200 / 1.0 - JXVF FARS 2000 X 3000 X 2400
BELR 0 FHOHFAE R~ A DUET 18002300
S Es &P S 4 K5 /R Z B G & TR A % ¥
33 |RIEEBAR B2k M10X 30 BO P, SR IR 74 E=]
34 [xtEARE 5 12K M8 X 25 Br-pae, sk, BREE 4 ESS
35 [WHEME TR 2 M8 X 25 (ORI N 4 =
x| 36 | ) Rk [ 124 M10X 40 BiopH, ek, iERE 4 £ | WA OHUERD
| 37 EA G E G IEAE M10X 30 Blop ., #psk . dRAE 16 ES
38 [t H G ik 5 AR 12K M10X 25 Ar-Pae, sk, BREE 2 £y
39 W EFIR SR I EE IZEE M10X 25 A Fa, spsk, WER) 24 £
JEYT| 40 | a5 )RYL KIS M12 X 120 AP, B 18R 12 £
R | 41 | PR s R A IEAE M8 X 25 Beopk, #psk . dBAE 4 ES
L | 42 | B o e ] 5 JEZAKIE R M10 X 80 AR sk, IR 0 X AT 4
43 | IR 2 B8 5 R IR S 4 12k M10X 25 it 8, Bk dERE 12 1=
e 44 *éiﬁ%i%&'ﬁ—?imﬁﬁ’l 12k M12X 45 AT, B 18R 12 E T13K
45 | BRI 5 348 12K M6 X 20 IETHE . HE, B 3 E=)
46 | FRREAR SC 28 S S EUERY 12 M12X 45 AT, sp 18R 6 By T13K
B 47 (BN N M24 X110 FOoT# . # . Al XURRE | 4 %= 8.8 %
g [ 48 [THLEH S5 apiHH 1B M8 X 25 Biopa, sk, WERE 4 £
HL | 49 | R BIHLBAFRE e KIS M12 X 100 AR B IBE | 12 % Himf sk
51 |44 ] K2 M10X 80 (R R o I s S 37 4 % A 4%
52 |FFis H g [ JKIPBET 4% 40 101 b3
|53 PHIrRREE 2 M6 X 30 GG FE R | 4 =
*12 54 | R A R E KB N8 X 25 T M. mE | 4 =
& 55 [JEYuk A A e JEZAKIZHE M8 X 80 A5 T3 . sk, 12 4 % WM 4%
56 |SVFE & E 2K 84 M8 X 80 ALIE TR . BB, IERE 2 % WiMh 4%
57 e A5 e K IEEE M12X 100 A3 L sk, B} 8 53
58 | B H IR AR [ IR IR M8 X 80 A5 . sk, W25 4 % ERUECES
59 | BRI AE [ JKYEET 4X40 71 X
60 | FHRUKSH L[ & [ S W2 AE M5 X 40 EIETHE . HE, B 4 £S5
| 61 [fldR TG [ S W2 AE M5 X 40 AR . gk, 128 0 £S5
BofF | 62 |45 el 13T 2 0 B il N 24 M8 X 80 ALETHE . B, iR 0 Ea WA 4
63 |BL)5 LAl K I8 M6 X 50 AR RE . B, B | 25 % R
64 |BlL5LAEiEsE B2k M6 X 25 40 %=
65 | LA I v EI B2z MAX 10 60 %
66 #1145 Al 12 M10X 25 o oT#, R 0 £S5
67 [IIWLSE 51T w3 12 M10X 30 fil T4, B, IBEE 2 £S5
HIT| 68 BRI RS IR M8 X 25 Biop, ppdh, WERE 2 £S5
69 |1 B 51 MR w3k 12 M10X 25 [N 2 £S5
70 [ E TR 12 M8 X 25 fi T4, SR IBEE 12 £S5
71 [1MEREE JIEZ K 242 M8 X 100 AP, B B | 18 £S5
72 B SEk IEHE M10X 30 A5 IRE  ppak, 2R 0 £S5
73 | EARAE g 12 M6 X 30 ALIE T 34 £S5
B 74 1&gk 12 M8 X 35 i T4, dk 6 £S5
75 [HhsRIEgR 12 M8 X 25 ALE T R 31 £S5
NV H YU 22 M5.5X19 0 =
e i FRIZAEMS8 X 100 10 £S5
79 | B R 2 S R 42 2[5 SR 22 M6 X 25 AIE T4 B R 10 £S5
81 [JE T4 MRS MR FE A e 3% PUSLIERE M6 X 15 ALE T4 R 34 £
VG718 Al F R BR A S5 . g s




